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N B o e e Date : 27-11-2016
Max. Marks : 50
S 1074 ele O ST Time : 11 am. - 12 noon

apcden : 1) SodHde% S50 HERRERE), Amdod 1,2,3 e 4 oo S0Bgs Himne Sdson ot o
D HoTED SR &1, 2R Fpaiudin, HB HOED FERTEHELTE 1 B,
2) DB e, HARRHRVHED 1/4 Bt Do Sriiye Mod Sbdabatib.

3) DESHARRESLOD ARiyen Qe

1) 3775 79 T grA0N Hi9) FHO wovveerrr e

The reminder when 37 is diveded by 79 is

1) 78 2) 1 3) 2 4) 35
2) The simplified value of \/Hﬁ—ﬁ@}wﬂﬁi = - (58 ) &0)
5 |'\'"£
1) 246 2) 26 3) 0 4) 1

3) It log(ate), log(a—-c), log(a=2b+c)arein A.P. then.............
log (at+c), log (a—c), log (a—2b+c)en APE® & S° ...,

1) ab,carein AP ab,cen APE g0
2) a’b?c?areinAP;a’b?c%n APS o
3) abcarein GP;ab.cex GPE® %08

4) ab.careinHP: abcn HPE Ze

4) =33t msons %}nmﬂém a—b, a 508dm a+b wond ab DevsSen

If the Zeroes of the polynomial x*-3x?+x+1 are a-b, a and a+b then
findaand b

15 1. 2 2) -1, 2 3) +1.42  4) +1, -2

I )




5)

6)

8)

9)

10)

Sinx+Sin®x=1 san’ Cos®x+2 Cos®x+Cos*x = oo
If Sinx+Sin*x=1 then Cos®x+2 Cos®%+Cos* = ovvrvirirnn,

1) 0 2y -1 3) 1 4) 2

B4 Ao 2,020 ©woBE&E%e, hy, hy,......hy @ FOEEEEE%D
Zoay. a,=h;=2 08030 a;j;=h;p=3 o ah =i

Let a;, a3,-..0.e...-8pp be in ALP. and hy, b,,........h 5 be in H.P.

If a,=h;=2 and a,y=h,y=3 then ajh; iS.....ccervvreren.
1) 3 2) 4 3) 5 4) 6

a,bes Surerenrerio SGASGR0 Hx+1=0 eas 22" b2 Semepenre
Mo 58 BEBERO ...vovveenes

If a, b are the roots of the quadratic equation x*+x+1=0,

then the equation whose roots are @2 and b*™is. ...,

1) ¥e—x+1=0 2) ¥o#x=1=0  3) ¥P+x+1=0 4) ¥*-x-1=0

H0SE 100 353%e 085 SEENB0 .ieiiiieiieiiiaeean

The median of the first 100 natural numbers 15 .......cooevenn..n.

1) 50.5 2) 50 3) 52 4) 51

mABC 508¢in mEBCen Sshersio (@4beren sh8cin BC g dothd
D wond mABC 6dio mEBCe Saveme I8 ..ooovvviiiinnnns
If mABC and mEBC are two equilateral triangles such that D 1s the

midpoint of BC, then the ratio of the areas of triangles mABC and
MEBC 5 ooeerieeeeiennans

1) 21 2) 1.2 3) 1.4 4) 4:1

tanu+sinu=m 58d%0 tanu—sinu=n o3 M2=n%=.....crieren.

If tanu+sinu=m and tanu-sinu=n then M*=n*=....oovvrvivn...

1) 4+/mn 2) 4 mn 3)2mn 4) mny2 @




rll'l_,_

rF_

11)

12)

13)

14)

15)

16)

17)

\f slels o

1) 0 2) 5 3) 1 4) None; 285
Two numbers are in the ratio of 15:11 If their HCF is 13, then numbers
will be

Totd Hoggen 15:11 V{AE® So. o Kir.gr. 13 oo @ Hogges.........
1) 195, 143 2) 190, 140 3) 185, 163 4) 185, 143

X :{}j BOND 2K DEVD ririinennns
If x= ﬂ.? then value of 2X 18 .voeievviviinnenns

1) 1.4 2) 1.5 3) 1.54 4) 1.45

x 24 2&:}5&5&% L' v S

Lowest value of X2+4X+2 15 wovvevreeeiiins

H o 2) -2 3) 2 4) 4

I nx+n=0 Sreren p:qUBE® G .o
The roots of the equation /x*+nx+n=0 are in the ratio p:q then ............

1) JE-Jr\'I[%T\'!%_D 2) \E_E 1.,|I,.' 0 3) ‘J__;m ‘l'll; i 4}"_ |——,HIT

q \ Ya Yp

x=a, y=b 80t i ﬁg&énﬁ}:m Toth Teerd rdodar @d........
The pair of equations x=a and y=b graphically represents lines which are........

1) parallel; Z&r=odbo 2) intersecting at (b,a); (b.a) 58 PolHEDDH
3) coincide: D88 Dok 4) intersecting at (a,b); (a.b) ‘é:‘é oot nE o

Determine the value of K for which the following system of equations
becomes consistent 7Tx—-y=5, 21x-3yv=k
Tx=y=5, 21x-3y=k en HoKd 3Do%teren Frdohbn K Dend

11

2 (@

1) K=15 2} K=11 3) k=4 4) K =




-

18)

19)

20)

21)

22)

23)

24)

xHxt8x +ax+b @36 x*1 I orhoSHsT, abDenS v,

The value of ab so that x*+x+8x%+ax+b is divisible by x*+1 i$...cocvrnnnee
1) 1 2) 7 3) 6 4) 1

K Gng) & Denddh, 3xty=1 &bdin (2ZK-1) x+H(K-1)y=2K+1 dah
BEnssereh Sireren o).

For what value of K will the following system of linear equations have
no solutions 3x+yv=1and (2K-1) x+H{K-1)y=2K+]

1) 2 2) 4 3) 6 4) 7

P GioE) & Dendth 2x*+px+8=0 $B50EB0H TR Swrerer o,
For what value of P, the quadratic equation 2x*+px-+8=0 has real roots?

1) -Bipi8 2) pj-8 3) pi8 4)pj8, pi-8

xi-bx-+e=0 Gt Sreren Befato 1 OBS .veenenenns :

The difference of the roots of the equation x*=bx+c=0 be 1, then........

1) b%-4c+1=0 2) b +4c=0 3) b*~4c—1=0 4) b*-4c=0

The solution of \/5x =1 ++x-1=2 is

WSx—1+4/x-1=2 08 PES (v
1) x=2, x=1 2) x=2 3) x=1 4) None; Sbseen

Sum of the roots of the equation 4*=3(2¥" )+ 128=0 i$..cccouvuerernens
4¥=3(2¥%)+128=0 550880 Srere FoH0 .ooveennn..
1) 0 2y 7 3y 5 4) 8

The value of (Densd)
l | | 1
—= 4 -+ T T o ——
2x7  T=12 12x17 252 %257

5 25 35 51
) 557 2) 2%257 D oxas7 Y 2x3s7 ®




e

29)

26)

27)

28)

29)

30)

1+4+T+10+......... FX=287 BIE50E° X DE0D vrreereens

The value of x in the equation 1+4+7+10+......... +x=287
1) 20 2) 25 3) 35 4) 40
5 SN T eV FBE6* n Sore E0=. v
Sum of n terms of the sereies V2 + V8 + V18 + 32 4 oS
nin+1) : n{n+1}
1 2} 2n(n+1 3 4) 1
) z ) { ) ) T:: )
It figure (55; $&06®) DESBC. If AD=x, DB=x-2, AE=x+2, EC=x-1
then value of X =.....ccoiomiirnins BIONOE X BEDEI . Lo n s
1) 4 E C
2) 7
3) 5
4) 2 A p B
If mABCquEF, AB=4 cm. DE=6cm. EF=9 ¢m and FD=12 cm.

the perimeter of mABC is; mABC (88ba hénFod.. ...
1) 9 cm. 2) 81 cm. 3) 18 cm. 4) 27 cm.

In mABC, SB=90"and D is the midpoint of BC, then
mABC&® SB=90"58a5n BC ot D @ani ..............

1) AC*=AD?+3CD? 2) AC’+AD*=CD?
3) 3AC?=AD%+CD? 4) AD’=cD?=3AC?

Bob Hero Both Himd Hymredd, el Eb?xﬂieﬁ:ﬁ@u% /’ \\

Srehod, f Schoid (o SRR ecinriaraasn cm’® \ /

The given figure shows two identical circles and a LJ—20 em u

rectangle. What is the uushaded area of the figure in cm?

1) 40 2) 43 3) 25 4) 33
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31)

32)

33)

34)

35)

36)

37)

Coth ymre devese Jid 16:25 wowd @5 HE0HE° HEee DHoLhe
[f the ratio of areas of two circles is 16:25, what is the respective ratio
of their circumferences?

1) 25:16 2) 54 3) 4:5 4) 3:5
E:E =m, Cq::?; = n then @owid (M*+n*)cos?b= ...ocvveree.
1) n? 2) n° 3) n 4) 2n
CosA+Cos*A=1 then (wowi) SinA+Sin*A=........cccc..c...
1) 1 2) % 3) 2 4)3

Sinu+Cosecu=2 then (wcnd) Sin'"u+Cosec'™u =

1) 1 2) 2 3) 4 4)0

6 0. 8. Tgrgoliy $H)E06® wokfPolnlds el Slwriiv (B4be ghao
SRl i s »o.8n

An equilateral triangle is inscribed in a circle of radius 6 cm its side is...
1) 343 2) 5 36V 42

9 $868oToTe ©o8KBAE DiEbo 100 HEck 6 H8dvTorre wosKBE
Sngaioo 80 eows Sockngorr 15 H8doTroe eosNdd o

It the arithmetic mean of 9 observations is 100 and of 6 observations is
80), then the combined mean of all 15 observations will be ....ovivivinnnns

1) 100 2) 80 3) 90 4) 92
3,4,6,7,8,14 03 J09H Jenden BEns) wodpire ol
DTVOTR TDHO...ceeeevre

The sum of the deviations of the variate values 3,4,6,7,8,14 from their
AN I8 i

1) 1 2) 2 3) 0 4) None; Sbseds @

-
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38) x={8"-7n-1/neN} y={49(n-1)/neN} then ()

1) xXy 2) yXx 3) x=y 4) None; oberes

39) A.B eo Both Sibéoen wand AWAWB) = i
It A and B are two sets then Aw(AWB)=. v,

1) A 2) B 3) 6 4) None; abseth

40) 2.8 IOy (Hsrbo 63% ©DOER Ipd, T6% ab&% BaiaErd.
SBUio X% ©BER 3%, DE) Bolohd) afdAIT....cieunenes

A survey shows that 63% of the Americans like cheese whereas 76%
like apples. If x% ofthe Americans like both cheese and apples then........

1) x=38 2) x=63 3)391x163 4) None of these; 2 DS
i 2 2 B swmasan
16 24 R
: 5 15 25 .
The L.C.M. of the fractions —, — and — 15 .ccovveernrrnnns
16 24 ]

2 2 73 [k

) 18 2) 3 3) 18 4) =

42) x*-6x7-26x2+138x~35 Gk Both Erarmen 2£V3  eows
BES DOLY TPTEED avrnnvmvisnnans

If two zeroes of the polynomial x*—-6x*-26x>+138x-35 are

2+./3 then the other zeroes are..........

1) 6,7 2) -5,7 3) =5, -7  4)5, -7

Z . 2
43) (%°H1) =%"=0 has.....cooissoiins X)) =055

1) Four real roots; Sreorh Trid doreren oo,

L A

)
) Two real roots; Botl &R doreren Goldid.
) No real roots; =ri3sS sarmeren ol

)

4

One real roots; 2.5} 55 Swreo eoliib.
=




=

44)

45)

46)

47)

48)

e 2y = 3) 2 4y £
C b -+ a
49) Toth DErD (@dhessine E‘E‘“EJEJE'}DE.} Aep@ 2:5 eond T etrd dhery
b T

1) 2:3 2) 4:9 3)J2:3 4) 32
50) FrogrSary (TN Lveeiniinain, ;  Father of Statistics iS........c.ovv.e.
1) @gﬁsﬁé; Arther Caylay 2) B‘SE‘QE £555: Ronald Fisher
3) BIE=°Y; Rene Descarte 4) ﬁ=§ srota5; George Canter @
‘4

. 3

Solve 2x*+3y*=35; %—+-}§:5 0By PED rvrerrrirrrnnes

1) x=K4, y=K9 2) x=3 y=4 3) x=1 y=1 4) x=K2, y=K3

AP&* 105 550 20, 195 580 101 @owiS 385 S80.cveeeereeen

The 10th term of an AP is 20 and 19th term is 101,
Then the third term 15..civvvvnnnes

1) —43 2) —61 ) —a2 4)1

mABCE® gheren AB Sbdin ACe shgisfothien Htkm E o F.
BEFC S&8ye: dzvego, mABC gavyemids Koéy ﬁﬁ&ﬁ‘EK AT T
E and F are respectively the midpoints of the sides AB and AC of mABC

and the area of the quadrilateral BEFC is K times of the area of mABC.

The value of K 15.erierenn.
a1 3
1) 2) 3 3) % 4) 4

If Cosu—4Sinu=1 then (2ond) SinutdCosu=.....cccevvereenn.

1) K2 2) K4 3) K3 4) 0

a,b,cen roe(E6E° 5 |’E]= =
i

22

Ifab.care in GP. then (2] ...

Y

The ratio of area of two similar triangles is 2:3 then the ratio of its corre-
sponding sides 15 ...occoeieeenns




